ad

THE FRENCHIE CO
SPEED COCKPIT




TOOL KIT

Empty the contents from the Tool Kit bag and sort them by the quantities below.

B. § (5)
< g(lz)

D. L.

(1)

M.@

(2)

l. /(1)

F. (8) J. (2)

=
K

Includes:

A. M5 x 12 Bolt (5)
B.1/4 x 1/2" Bolt (5)
C.1/4 x3/4" Bolt (12)
D. 1/4 x 2" Bolt (3)

E. M5 Insert locknut (5)
F. 1/4" Insert locknut (8)
G. Rubber buffer (5)

H. Bristol wrench 3M (1)
I. 8 wrench (1)

J. 7/16" wrench (2)

K. 1/4 washer (8)

L. Special washer (6)

M. Elastic band (2)

GEAR SHIFTER MOUNT ADD-ON

If you ordered a gear shifter mount, these are the components and bolts.
Sort them out by the quantities below.

B. g (6)

Gear shifter Mount

K. (6)

4‘ -
F. &) (©) /.

Gear shifter base

Includes:

1. Chairchassis 2. Wooden base 3. Back cushion 4. Seat cushion
6. Headrest  7-8. Support triangles 9. Pedals base

11. Wheel base

PEDALS
MOUNT

SPEED COCKPIT

10. Wheel Support tube

5 Legs cushion



ASSEMBLY

1 Put rubber buffers
® G on bottom of
chair chassis 1.

Place chair chassis 1 on top
2. of wooden base 2 and
secure with C bolts, and K
washers. L

%se 1 J wrench

GEAR SHIFTER
MOUNT

If you ordered a Gear
Shifter mount, install it
with B bolts, K washers
and F locknuts.

Or else skip this step

Install gear shifter




T WHEEL MOUNT
]

T ] Insert elastic bands M on wheel support
°° 4 tube 10.
[ J
Lift chair chassis to place support
J tube under. Move webbing to one
& side.

Place wheel tube 10 on
® \wooden base 2 with C
bolts and L special

washers.
**Webbing must sit

on top of tube
support triangles.

DO NOT TIGHTEN
COMPLETELY

Place wheel mount 11 on
top of wheel tube 10 with
D bolts and F locknuts.
Wider part facing seating
area.

Install steering wheel
on top.

Use elastic bands
to guide cables.

\

Adjust wheel mount
inclination according to
your steering wheel.



PEDALS MOUNT

Assemble support triangles

7. 7 & 8 with pedals base 9
using A bolts and E
locknuts.

Install pedals
on top.

N\

Use I wrench & H @

bristol wrench

= @, o .
° S vl /A ,

Place assembled pedals
mount on chair chassis
1 using B bolts, K /
washers and F ‘ p -
locknuts. LY

DO NOT TIGHTEN
COMPLETELY

Change headrests
easily.

Place higher or
lower according to
your height

Place cushions on chair

9. chassis (Seat cushion 4
last), magnets in the back
will help them stay in
position.

Place headrest on back
cushion




(A)

If support triangles
are lower than chair
chassis, transfer
rubber buffers to
them.

ADJUSTING
YOUR COCKPIT

Sit on the Speed Cockpit, check

wheel and pedals distance and

move components according to
your preference.

PEDALS MOUNT

Move pedals mount closer or
further from you (A) and adjust
inclination (B) (C).

WHEEL MOUNT

Move wheel mount
closer or further
from you for a
comfortable driving
position.

DRIVING POSITION

Move sliders closer

or further to adjust

inclination of your
back and legs.



FORMULA

For a formula position, recline back and bring legs closer to your body.

GT

For a GT position bring back support forward and legs down, if necessary,
move wheel away from you.

10.

After choosing the right
position for you, check
and tighten all bolts with
the wrenches to secure
every piece.

FOLDING THE SPEED COCKPIT

Loosen bolts joining wheel
support tube 10 to

wooden base 2




Tilt wheel mount and back support forward.

ol

THE FRENCHIE CO.

WELCOME TO THE FRENCHIE FAMILY!

Thank you for choosing the Speed Cockpit to improve your sim racing
experience. We are thrilled to have you on board this project so that you can
race comfortably and in style.

Lift wooden base from
handle and move Speed
Cockpit.

GENERAL RECOMMENDATIONS

*The owner is responsible for ensuring that all users of this product are
properly informed as to how to use this product safely.

elt is the user’s responsibility to inspect and if necessary tighten all parts
before using the product.

¢ Any assembly or disassembly of the product should be carried out with care.

*The Speed Cockpit must be placed on a flat, stable surface.

WARRANTY

The Frenchie Co. guarantees this product under normal use conditions.
Warranty applicable only for manufacturing defects. Warranty does not apply
in case of: Poor assembly, misuse or abnormal use, use and/or storage of the
product in an outdoor or damp environment.

NEED ASSISTANCE?

Write us at support@thefrenchieco.com or via WhatsApp to +57 315 796
7002.



@thefrenchieco

Designed by The Frenchie Co. Version en
in Bogota, Colombia Espanol




